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QUESTIONS 

1. Which expressions below are equivalent to 
2𝑥

𝑥2−4
 ? (Write yes/no for each) 

a) 
2𝑥

(𝑥+2)(𝑥−2)
 

b) 
4𝑥

4𝑥2−4
 

c) 
4𝑥

2𝑥2−8
 

d) 
2𝑥−1

𝑥2−5
 

 

2. Simplify: 

4𝑎5

2𝑎3
 

 

3. Simplify: 

2𝑥 + 2

𝑥2 + 4𝑥 + 3
 

4. Multiply: 
2

𝑥2 − 16
×

𝑥

6
 

 
5. Multiply: 

𝑥 − 2

𝑥2 − 4
×

𝑥 + 1

𝑥
 

 
6. Divide: 

5𝑚 + 1

2𝑚2 + 𝑚
÷

𝑚 − 3

𝑚
 

 
7. Divide: 

2𝑥 + 1

𝑥2 − 1
÷

3

𝑥 + 1
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8. Add:  

3𝑥 + 2

7𝑥 − 49
+

3

𝑥 − 7
 

 

9. Add: 

𝑦 − 9

2𝑦
+

3𝑦

𝑦 − 4
 

 

10. Subtract: 

7𝑥 + 12

𝑥 + 2
−

3

𝑥
 

 

11. Subtract: 

4

2𝑥 + 5
−

1

𝑥 − 7
 

 

12. Solve:  
5

10 − 𝑥
= 5 

 

13. Solve: 
𝑎2

𝑎 + 3
= 4 

 
 
 
 
 
 
 
 
 



LEARN WITH PI 
RATIONAL EXPRESSIONS                  EXTRA PROBLEMS   

 

 

ANSWERS: 

1. a) Yes b) No c) Yes d) No 

2. 2𝑎2, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑎 ≠ 0 

3.  
2

𝑥+3
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ −1, −3 

4. 
𝑥

3(𝑥−4)(𝑥+4)
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ −4, 4 

5. 
𝑥+1

𝑥2+2𝑥
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ −2, 0, 2 

6. 
5𝑚+1

(2𝑚+1)(𝑚−3)
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑚 ≠ 0, −

1

2
, 3 

7. 
2𝑥+1

3𝑥−3
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ 1, −1 

8. 
3𝑥+23

7(𝑥−7)
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ 7 

9. 
7𝑦2−13𝑦+36

2𝑦(𝑦−4)
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑦 ≠ 0,4 

10. 
7𝑥2+9𝑥−6

𝑥(𝑥+2)
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ 0, −2 

11. 
2𝑥−33

(2𝑥+5)(𝑥−7)
, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ −

5

2
, 7 

12. 𝑥 = 9, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑥 ≠ 10     

13. 𝑥 = 6, −2, 𝑤𝑖𝑡ℎ 𝑁𝑃𝑉 𝑎 ≠ −3  


